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Exponent Law Practice
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Unit 4: Exponents & Radicals

4.1 Square & Cube Roots 0{
¢
Perfect Square: A\ number Yhat con be C’X’Pmss o=
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Prime factorization (factor tree) can be used to determine if a number is a perfect square or
cube.

Ex.
Determine if each number is a perfect square, perfect cube, both, or neither:
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Ex.
Evaluate, with the aid of a calculator if necessary:
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Ex.

a) A floor mat for gymnastics is a square with an area of 196 m?. What is its side length?
2 T
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b) The volume of a cubic box is 27 000 in.> Determine its side length.

_. \l, 53
(s R
I ) o&?:éfﬁ

3 50 L 30030 = N

Practice: pg. 158/ # 30in= S
/100" = 10
J1coo = 3.6

J 10000 < |00



FMP10 Name:
Date:

4.2 Integral Exponents

Mote that o and b are rational or variable bases and m and n are
. integral exponents.

~ Product of Powers (™" =am+r
' Quotient of Powers a: am-e2 g0
. Power of a Power (o™MP = gm o
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Exploring Negative Exponents:
Continue the pattern:
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Slmpllfy using expansion and cancellation, then simplify by exponent laws:
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Ex. Write each expression with positive exponents.
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Ex. Write each product or quotient as a power with a single exponent.
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Ex. Write each expression as a power with a single, positive exponent. Then, evaluate where -3
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Ex. It is estimated that there are 117 billion grasshoppers in an area of 39 000 km? of
Saskatchewan. Approximately how many grasshoppers are there per square kilometre? Solve
using exponents without a caiculator.
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Ex. Write each expression as a power with a single positive rational exponent. Then, evaluate
where possible.
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We can use our exponent laws to Eeal with rational exponents, but what do they mean?
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Ex. Write each expression as a power with a single positive rational exponent. Then, evaluate
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Ex. Simplify and evaluate where possible.
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Fo d manufacturers use a beneficial bacterlum called Lactobacillus bulgaricus to make ~— -2
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4.4A Irrational Numbers |
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Irrational Numbers: A N mbu, 'I'}\“ «’L Can: b
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Number Sets:
Place the letter corresponding with the correct description in the approprlate"“area -on-the-diagram.
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Ex. Express each power as an equivalent radical.
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Ex. Express each radical as a power with a rational exponent.
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4.4B Irrational Numbers li
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Ex. Order these irrational numbers from least to greatest without a calculator. )
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Ex. Order these numbers from least to greatest. Identify which numbers are irrational.
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Ex. The Seabee Mine is located in Laonil Lake, SK. In 2007, the mine produced a daily average of
gold great enough to fill a cube with a volume of 180 cm’. If five days of gold production is cast

into a cube, what is its edge length? N 7
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